

3

(1)

לפי א הוכחנו כי עבור כל n: $3 \cdot 5^{2n+1} + 2^{3n+1} = 3 \cdot 5^3 + 2^4 =$

$$3 \cdot 5^{2 \cdot 1 + 1} + 2^{3 \cdot 1 + 1} = 3 \cdot 5^3 + 2^4 =$$

$$= 3 \cdot 125 + 16 = 391$$

$\frac{391}{17} = 23$

1

נניח כי עבור n: $3 \cdot 5^{2n+1} + 2^{3n+1}$ מתחלק ב-17 (2)

$$3 \cdot 5^{2n+1} + 2^{3n+1}$$

נניח כי עבור n+1: $3 \cdot 5^{2(n+1)+1} + 2^{3(n+1)+1}$ מתחלק ב-17 (3)

$$3 \cdot 5^{2(n+1)+1} + 2^{3(n+1)+1}$$

$$3 \cdot 5^{2n+2+1} + 2^{3n+3+1}$$

$$3 \cdot 5^{2n+3} + 2^{3n+4}$$

$$3 \cdot 5^{2n+1} \cdot 5^2 + 2^{3n+1} \cdot 2^3$$

$$3 \cdot 25 \cdot (3 \cdot 5^{2n+1} + 2^{3n+1}) - 17 \cdot 2^{3n+1}$$